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Ques 3. ANS (C) Solution:

o TR,

(12x5) 10,= 60 - 10 = 50

I DR,

(18x5)-10,=90-10= 80

Ques 4. ANS (B) Solution:
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Ques 5. ANS (D) Solution:
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Ques 6. ANS (D) Solution:
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Ques 7. ANS (D) Solution:
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Ques 8. ANS (D) Solution:
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Ques 9. ANS (C) Solution:
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Ques 10. ANS (B) Solution:
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Ques 11. ANS (C) Solution:
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Ques 14. ANS (B) Solution:
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Ques 16. ANS (B) Solution:
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Ques 17. ANS (D) Solution:
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Ques 18. ANS (C) Solution:
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Ques 19. ANS (B) Solution:
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Ques 20. ANS (B) Solution:
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Ques 21. ANS (A) Solution:
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Ques 23. ANS (C) Solution:
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Ques 24. ANS (B) Solution:

In each subsequent figure the inner line segments move in
anticlockwise direction.

Ques 25. ANS (C) Solution:
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Ques 27. ANS (D) Solution:
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Ques 28. ANS (C) Solution:
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Ques 31. ANS (C) Solution:

Ty frdt 21 &) S saaRyT &1 98 gier-grn Rufia
BRI ®, o 3radifd S Siar Ryd gl 81 Tfaem &)
UH e BT IGd JauyH 1215- 3. § forea & gaiml earaaa ¢ fs




Tfaem o1 & Tt & fauird foran siman B-forfad wfaus ua
fferfad wfaur | -fofea dfaum ara 3w 8- HRd, sifeeferan,
3mifveT aife | Stafey siferfEd Gfaem ara 2w 3-fyee, 3orma,
FSATS |

Ques 32. ANS (D) Solution:

HRA 1 HfAYT & HRT-2 H 3gada 5-11 b H ARG &
ey IUSY 5 T §1 3Jwde-11 & ded 949G Bl ARGl
% I T ST 99 BT fIBR UgH fbar T g, srufd I9e
ARG AT & 3o AR T & qUT ARG § Fafid o=
Tt fawerl & ey & S a1 Gl 8, HRd BT G HTST
B TG THA ARG Al BT IUSY BT |

Ques 33. ANS (D) Solution:

YR AU & UT-18 T fgade 352 F 360 A
STUTdHTEH IUeY Ifcafad § Uiy & iH TeR &
S{TUTART T qui fordT T - (1) 3-352 & d8d I,

IR STHHUT SR TR fASIE P BRI AET MU BT (2)
3{7-356 & ded ISdl B YU = Bt f[Awaar & SR
YT T (3) 317-360 P d6d HRA B! faxiig R 3ryar
IRI & HRUN AR fawia suraera | sfafds srdiRe srifd
F 3MYR W SATUTIBTS I =IO AL T 1 S Tt |

Ques 34. ANS (C) Solution:

s T 3R b T 16 HETSFUGT BT I fHrera 31
e g fiess & g5 & gd oFF &1 HUTY (ST HAUTY) il
B U SIg ¥ & IuCR W ¢ | faTafies & firgy sik
fregfOrat & ¥e ud e Sia Tra=l sraR-faar, fam
HRId 8| etf¥e e # ol e Rigri 1 avf g1 78
TR & FUH B

Ques 35. ANS (C) Solution:

TS ATsd] B oA H 5188, T I+t oo anlt g uRd
ST UT| 9 S{faRad Biigd™, I fadia T &
P 7 HRA 31| J&(P AT g¥ad & R BT H YR
31T | SIHT Hicd! RclTed] & 31 H HRd ST T

Ques 36. ANS (D) Solution:

SR (1210-1236 3.) 7 Yood B! AT ABR &b TIF TR
feeeh ot | SeIaftT = Yo &1 UG dRIITd S| 9
1234-35 3. T frqen & U Urdivaw -feg 0feR au1 SoH &
TETHIA & HIG BT el 3R ¥ R e 397 Rygel R
THATA D1 A fRgd™ &1 IWIRT Y= B a7 aTierdR faorg &
e 3o AT form b1 A1 gl IR sifdd FHramn| Feadd
7 & &) Hedqul Rigds 91t BT ST 3R ‘1S BT s 4T =
IRY B

Ques 37. ANS (A) Solution:

FICR I 1R $7YC fEared grI fad 9 g1 39 e
bR IR I W U P 3T B Bl 81 37ge
ST b IR0 - P 9IS, A3, WA, - Thad, A_e
U, TR-BIS TSR, TR TS |

Ques 38. ANS (A) Solution:

FITTH TRSIRIZS Ca(OH), B! g3 g1 ff Fgd 81 T8
FIRTH RIS (Cao) BT oA  fobaT gRT &1 81 39 U A
STeH TR G 1 U §il ¢ | 9 9l 1 W dlaR] )R
Tt R B fohar orar 81 59 Sifafad sqet v sife
T o ST 8 1 Ul Y Srvcrdt HH Hra H oft B
BIISIRIZS HT YANT T oirall g |

Ques 39. ANS (C) Solution:

3rquf gfafirar SR guf ufaafirar aur quf T IieR @
Tl & o9 o1 IoiR fRufa 31 3rquf wfagifiar o Sarees!
D! T g8 SHfIF T It iR 7§ Iy IS Bt &

S sa e A aegell & fadfioor g 8 37 agsit &1 g
ff T THI R TF el gl & |

Ques 40. ANS (B) Solution:

YRA B JYH IR I91S a1 I I 31 Y 701 H= a1l
SR Ao FHqd! I TG G (V.K.RV Rao) 31

Ques 41. ANS (B) Solution:

STYFH 3MTad RO BT HRSAT IS A BT | ISP SHEYDH
3fad-FH & SFUR Il & Hifde 3R I our-¢,
I URHTY] HHTH! P A Her gid o | SMYFd 3mad IRoft
¥ forddt oimad & 919 § TR M R Ui 7T ged § quT
JYTfeh T[0T §¢ S & | ey § {3 snmad awoft & qedl o
aforst dfgaal o1 iad a1 ST B

Ques 42. ANS (B) Solution:
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Ques 43. ANS (D) Solution:

Tt uerl &1 a8 U1 foI% RO 98 YRT & a8 H 3Ry
ITF BT 8, IRy Fearal g | [t s o1 ufekiy g
Fral R R T 8- Tad Bl UfoRiySdl, Idd o dds W,
TS & SHTIR BT & AAHA UR 9T ATt & d1d W 3(a:
Tt faey TEl B

Ques 44. ANS (A) Solution:

AP R ARG 9 faggd URT Ud b & g &
AT R AR Far 81 ende § 7 o uerf @ smawr &1
7aTg FReidll & B oIl €, 3¢ dqgd =i uard Bgd & ol-
i}, URT, e, AT I, TN P Soi1g faaaH, Sital T IRR
i1

Ques 45. ANS (B) Solution:
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(4) Bs (Maifed i) - Uamm

Ques 46. ANS (C) Solution:

faae! @idRIa) &1 o A URW@IeT § | auT a8 snfareT
Y BT 3] &1 $7 TRR & IR 41 I8if §RT WA= &<l gl
Pl B Iogol 3T AU AfHIE gt § 1 PIpd & gad o
el B T 13 Bl ¥ I Gl R e iR
UREEROT 4 U119 § | I8 T IR IR GaigRy o 5|
Ques 47. ANS (A) Solution:

TS ATERY §RIT b, Hidal gRT WERT, RS §RT Tae,
AR gRT BICT AT, DA IR GRT Uiferd, T a1y
RT3, AT a1 gRIT Uid SaR 311G | Safds Tawiss
(AT SAR), & T AT BT SHQTY] gRT H aTet I B

Ques 48. ANS (C) Solution:

gt &1 IR 3R R g T T =Tt SiraRvr argrvSd
HEAdT ¢ | THTSH H TG TG} &7 AT & SFIAR HH:
Y §- IS 78.8%, TR -20.95%, 31T 0.93%, HIe
SR 3HTETES 0.03% 21 31d: fdeed () Tel

Ques 49. ANS (D) Solution:

et R et uikfRufaest d & 3T Sl 8 | dadTge S
@1 geeT a1 R & HRU 98 &5 H IR oIt BT UGy gl
21 ST oS! 7 H Sielty g S ol Hod! 3fe IR o 1




eI ¢ b g umivedfaet dFf o Sia-fafaeydr waffie amn o
oreft ot B 1

Ques 50. ANS (B) Solution:

3 feaefia URa Sierarg 3R 3o UiiieRl &) 9o & SRM
IR DI I WPHR & T AIGR B Ay I gR1"YRd &
Yidad &7 o Jaarg Fawr siawR” 2fie areft Rdid ot ot
TS|

The report titled "Climate Investment Opportunities in India's
Cooling Sector" was released by the World Bank in
partnership with the state government of Kerala during the
two-day India Climate and Development Partners meeting.
Ques 51. ANS (B) Solution:

YR ReTd o Bt RATTAT 1 340 1935 BT gt | AT 1949
B YR Rod dF BT IFTaemun foam 7| $96 97 FH 6-
(1) Aifge Y ST T A AT

2) fa=h g1 &1 aied ST (3) YR IWBR BT SHR 3R
YR & A D! & 9B & ©U H B BT

(4) YR G&T B ARG B! (45T BT (5) GET SIRT AT 3R
I Ao H-1 Td uREme & I 7 - 364 IR 396! 5
HATI

Ques 52. ANS (C) Solution:

3T TG (T3 V) - AFTIAUS (1963) SHISUGRT (1953), HERIY
(1960). T[SRT (1960), BRTTOM (1966), TFHTEA U (19771),
TETerd (1972), AR, BIGRT (1972), RifdwH (1975), feiRy
(1987), BTG ITRIEUS Td FRWUS (2000),dTT (2014) |
Ques 53. ANS (B) Solution:

HRA B! AU THT Bt UYT 96 9 e 1946 H1 g4t i
D1 g1 Hifd 39 JHT & e INY T SlaeR AiAGHg Rl
DI U T SRR SHLA& AT T 3P a1 11 fGHER 1946 B
BT, IOIE TG 3R T, ISl Bl HURT: WAUH TUT HT
el SR IuTeE I TN TR T, I I THT HT W
HATgHR gad fobam |

Ques 54. ANS (D) Solution:

9 foTaR 1946 <. Y WAYH TUT FT 7T 93 T3 el fRya
FHISRT TR & YadbTer o & gt | foras sreumdt sremer
YiergH< RT & §=1 T 7| eaTded ¢ fob Tfaem gur &t
3ifoT 96 24 TG 1950 3. & gt It g Wigum g &
GRT ST. 05 THTE 1 YRA BT JuH IFUfd 1 T 7

Ques 55. ANS (B) Solution:

ISR el o1 Ta 37T IeTexvl gt B 1 gt s
T B IS | T8 TR e WSeR & 9 H A9 g1 YRA
F HICH o0 B Y T8 TR 3y fovrad =l &t g2 o
M & | AT § fos SRR STR a1 AW &l WIsal = 1336
3. T fOSTg TR I &1 RIGAT &t ot | gt & Ry wimae
FHarrefl # yw favure wf<r, goita w1, fosTer Af<R, geRT
M AR S|

Ques 56. ANS (D) Solution:

TG T MR FHT § 16 TROFUG! &1 I fHed g
HEISHUE ST
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Ques 57. ANS (A) Solution:

YR B I AT BT YRITIH 'STER AT| J6R 5 qauyq
Yol 1 IRWRT Bl ASH 30 ! 'JIGRNE' DT fobar o7l
FER A RT A Al § v amt e | o/ R-T-
I BT STl UT| fah 31a S/ SIRTHERT gl AT § | SR
q U STABYT TERAMET | Hadl Ui GRed Aedl- S,

feeett , AT, ToRTd T4 S5 o0 a1 &l fewg Ied! - Hars
T4 ISR 7 Ieerd i B

Ques 58. ANS (C) Solution:

TYH Yol 4T U JRIUTT 0 ARSI ' 3egd Al
e ORI U TaRidb B Ggrdl 9§ 1498 5. B! BIelide
(HR) & TS 7 TR IR TRBISTHAT 4 YR § HIeiid &b
IR ¥ 60 AT 3% AT FHHT, R 37 Ui st
DI 1ff Ticare BT | aRSBITSTIET & d16 YRA 3T a1 g’
e At TS Sfesiol ST (15008.) AT

Ques 59. ANS (A) Solution:

T 1S} 1 3¢ ITRRAUS &b STRBIRA forel H MEE & e
TR oA & gof ¢ | 77 &1 al XY URK Srd-al au
YR AT ® S $R 7 T i et 71 I YR
ol JTRIGUS, IR Ue Y, S8R, IREUS e ufd strer d
TR gl 31 T B Tad e T IR YR 71 T
SR H ST (&Y a1 Y THeehR U1 & 1 & ST STt
B TSI T ST 3y 1 Hed 98T Seet HAT Sf1el 3
Ques 60. ANS (B) Solution:

HY. 5 Tl U, ISR, ORI, HERTY - S &b 1Y
3ot T TR AT B | ST § b A BT IS 1T ga-
SRATG, ISTH1T Y- TRER. IeTh1g Ueh- er 81 Tt faym
qUT T TBAT 230 B. TAFHHT GG TR 29 TG IATTHT
o 9 11 3

Ques 61. ANS (D) Solution:

o IR ¥ & MTHAUN I I g5 RT & SR Hhe &
d9, TRIUTT STRIRT & 3regf IYa ar 9% add = 2022 H Hhisd
B AT B 100 T Yfaamret! Aigemsll &1 gt § 2y =i
gIRya fepa 21

Amid Europe's extraordinary crisis triggered by Russia's
invasion of Ukraine, European Commission President Ursula
von der Leyen has topped the Forbes list of the world's 100
most powerful women in 2022.

Ques 62. ANS (C) Solution:

TSR OISR = 29 SHASY 2023 H Had & 31el e A
$25,000 ITF U®Y Y gATHE &1 HIg-d Sfidl| 3514 Weaa o
ISl & GARIA eaMId i g1 Siid gad Dl
Prajnesh Gunneswaran won the final of the $25,000 ITF men's
tennis tournament at Al Zahra, Kuwait on 29 January 2023.
He won by defeating Khumayun Sultanov of Uzbekistan in
the final.

Ques 63. ANS (B) Solution:

HERTY g TSR - 8T 81 H fGauiv ol & g ueb arerT
BRI T B} RITGAT BT 31ferpd far g1 5T aron
RIS el fdad & SraeR R 1 715 i 1uye feauin
AfTal B} SUTE SR JREM B TR & 1T T 3T Toreht
@ AR P 20 qN & S AT 5

The Maharashtra state government has recently authorized
the establishment of a separate government agency for
persons with disabilities. This was announced on the

occasion of International Day of Persons with Disabilities.
This comes after 20 years of demanding a separate agency to
look after the care and safety of persons with disabilities.
Ques 64. ANS (B) Solution:

YR 7 1960 H1 &Y 1 WY (Indus Waters Treaty — IWT) &
PTG R SEIHISIG B SR & §1G SR & g
Ui ol feg o fbar 31 Riy Siar & forg Fafera simgeril
& HEHH | e Wl T |

India has issued a notice to Pakistan for amendment
following Islamabad's inflexibility on the implementation of




the 1960 Indus Waters Treaty (IWT). The notice was sent
through the respective commissioners for Indus waters.
Ques 65. ANS (B) Solution:

T G A 4 STAK 2023 B AR & U1l il & Jge o
TR BT Igute [T RIS = 66 ITd S1G SER] &1
ASTET BT ITEH <= R ¥ 35,000 ¥ 3% Tp13C R MeS 7
1 fer

President Murmu inaugurated the Jamboree at Rohat in Pali
district of Rajasthan on 4 January 2023. Rajasthan hosted the
Jamboree after 66 years. More than 35,000 Scouts and
Guides from across the country participated in it.

Ques 66. ANS (B) Solution:

FEIa TR UTe, URUTeH SR SERT HAl gENIH wuTel 7
BTG # 0 R T3 B TR R SR s -
3T Hi-daid’ BT IgUTe fHar. 39 I8 W 37 Hi-dad &
IR 3 H U, SR SR gRquTe & & HisEl ok IR
e Bl g T

Union Minister for Fisheries, Animal Husbandry and Dairying
Purushottam Rupala inaugurated the 'Grand Start-up
Conclave' in Animal Husbandry and Dairying at a convention
center in Hyderabad. The grand start up conclave aims to
promote existing and budding startups in the livestock, dairy
and animal husbandry sectors in the country.

Ques 67. ANS (A) Solution:

HRd - BT &1 H gAsc s [hiTeH | PIeRT AR’ TaRRaTsS
(Cobra Warrior exercise) HHRT A & ﬁ'ﬂl fIRI1-2000 NEIEd
famml oiR o famm! &1 9T §. I8 Ue Sgueli ana §
forerd} freT ot Mad TR B 3R YR IR 1 & 1Y
oS, Wi, GfarT srpie, Tga ITea SMR®T 3R RigR
DI Irg T o T o,

India has recently sent Mirage-2000 fighter jets and other
aircraft to participate in the 'Cobra Warrior' exercise in the
United Kingdom. It is a multilateral exercise in which air
forces from Finland, Sweden, South Africa, United States of
America and Singapore will also participate along with the
Royal Air Force of Britain and the Indian Air Force.

Ques 68. ANS (D) Solution:

(GTITA) 3 grEaR ife iR fafomm & wafaw wurstt &
TR AR & o YR Bl Ta-iHie HSMRT 3aTS 2023 USH
fFa g

The Global System for Mobile Communications-GSM
Association (GSMA) has presented the Government
Leadership Award 2023 to India for implementing best
practices in telecom policy and regulation.

Ques 69. ANS (B) Solution:

U4 fay SRR AR Ue RIATS! ST SUTEr = Sreiare!
wisam # Hfer TPt ssfiic aftm=R & #fga ted o1
Radre e A fan. 18 auffg 3w 3 Afed tehd wrea &
T H=IY P G 5! G¥Y Uhd Raara fy FHefd A
S, BT A Brea T A i Iead & ard &

Former world junior number one player Anupama Upadhyay
won the women's singles title at the Senior National
Badminton Championship at the Balewadi Stadium. 18-year-
old Anupama defeated Aakarshi Kashyap in the women's
singles final. The same men's singles title was won by Mithun
Manjunath. Manjunath defeated Priyanshu Rajawat in the
final match.

Ques 70. ANS (C) Solution:

International Day of Women and Girls in Science is observed
on11 February. The day aims to achieve the empowerment of
women and girls and promote the participation of women
and girls in science. According to the UN, less than 30% of
researchers worldwide are women. Only around 30% of all
female students select Science, technology, engineering, and
mathematics (STEM)-related fields in higher education.

fos o Azl oiR Tsfral F1 SIRTP fiad 11 Bradt &
A ST g | I8 o Afganal 3R wrsfal & gifdidmor &
T B 3R fag & Afeansii sk asfeal &t e &
FgraT & % T ¥ | Tged 1Y F SR, g R H 30% I B
Meyehd! Afgany & | 9t Afga BE # & Sad 30% 3= Rien &
s, Thenfiiat, Soffaf oiR Tfdrd (STEM) & Tefdrd &=t &1
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Ques 71. ANS (B) Solution:

\/(l—sin2 8)+ (1 - cos? 6)

_ I(l-sinze) 3. [cosze_\j(cose)z
V(1-cos?0) Vsin?e Vlsin®
=c?se=cot9
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Ques 72. ANS (A) Solution:

o ¥37,500% = 8 x %:4%#&:3“1
Y = 3 guwt

T
wwafE foae = P x (“1—66)

3
= 37500 x[1+—5—)
100

26)°
= 37500 x (-2—5—)
37500 26 x 26 x 26
B 25x25x 25
=3 12x26x26><26_210912

5

5
=T42182.40

Ques 73. ANS (B) Solution:

12 Hlo
cotA = g— P

wf = 122,452 - 44 +25 =169 = 13
5 12) 13
—_— — | X —
13 13) 5
17 13 _17

135 5

(sin A + cos A) X cosec A = [

Ques 74..AI_\IS (C) Solution:

100 125 5

. ) e gy - = 1400 x 5
4200 x 75 XIO{] 4200:-:3

= 7000 %o

Ques 75. ANS (A) Solution:

A, el W F A = x felode

o W wR A} T = (x + 10) fefogea

(x + x + 10) X % = (300-25)
(2x+10)x% =275

2x + 10 =275 x-é— < 2x=(55x2)-10

B 2 =100
x =50
¥a: et T = 50 feftorga
Tl @R = 60 fEdtorga




Ques 76. ANS (C) Solution:

110
gfq g=i fao 10—30X ﬁo‘

=3X 11 =33%0
Ques 77. ANS (C) Solution:
A J WA WS, X 991 x + 1 #)

xxX3=x+1)x2+5

X=2x+2+5
3x-2x=17
x=17

¥@: gem 7 3w 8 %1
Ques 78. ANS (B) Solution:

. R = [2 75000+—_—275'°°°"8"3]

-3,35,000
[2,75,000 + 66,000] - 3,35,000
3,41,000 - 3,35,000 = 6000

Ques 79. ANS (B) Solution:
. 1.1 1
w1 9§ wmww = (5+_0)_E

1
_(ﬂ] 1.3 1-6-1:5 1
“\.10)°20 107207 20.7 20 &
Ta: ¥F W WA W 4 W F TG T R
Ques 80. ANS (B) Solution:
T® = 34 x 50 = 1700 et

1700 1700 18
60 Ho/do = X 5 fattorda

= 34 x 3 = 102 fitorda
Ques 81. ANS (A) Solution:
(3m + ) w1 1@ = 5
1 1 12+9 21

=912 " 9ox12 108

Fd: 9™ =

Ques 82. ANS (B) Solution:

50 ¥ 100 & A U T&AT = 53, 59, 61, 67,
71,73, 79, 83, 89, 97

3(d: 10 HTT =TT B

Ques 83. ANS (C) Solution:

35828
LCM= "~ Sk 1378

Ques 84. ANS (C) Solution:
(a® -b?)
(a+b)
(a+b)(@a-b)
@+b) -
a-b=25
Ques 85. ANS (A) Solution:

=25

g
=
= 1+—25
famm ao[ +le

8 2
= LZS;IXQ(] +ﬁ}

2 2
" LZSODQ(1+_J
25

=200 x 27 x 27 = 1,45,800 %
Ques 86. ANS (A) Solution:

o ng at

T8 for@ 9 a @l # g
=50-(16 + 2 + 24)
=50-42=48=8

Ques 87. ANS (B) Solution:

g g =N 8+4 12
e B, 8.1
15720 155

= oy =215 1636 fertora
ii; V,

Ques 88. ANS (D) Solution:
JHATE T &1 & F%a

—?xﬁxﬁ:gﬁaﬁ?ﬂﬂ.
Ques 89. ANS (A) Solution:

oA = 8,750 %o i
- = 8750x%=350 x 6 = 2100 %o

_ == X100
= —’PVX“
2100x100 o 84 x100
8750x8 ~ 350x8
84x10 840
T 35x8 280_33"
Ques 90. ANS (B) Solution:
T HISE = x Yfto, T = 2x At
a &1 9 = 2 (Fo + Ho) =24
2(x+2x) =24
3x =12
x=4
To = 4 ¥R, o = 8 |+t
AT F Go = ol X Hrer
=4 x 8 W2 = 32 42

Ques 91. ANS (A) Solution:




7oud = 8,750 %o .
I = 8750x-26—5=350x6=2100‘6°

= X100

o X R

- 2100x100  84x100
~ 8750x8 ~ 350x8
84x10 840

35x8 280‘3’“i
Ques 92. ANS (C) Solution:
yxZ+y2 =25

x2+y2=(22x5)2=625
2+ (202 = 625

x2 +4x2 = 625
5x2 = 625
o -
X = ,’izs = SJg
Ques 93. ANS (A) Solution:
S e 4x17.55+20
70+20 90
5 - B

Ques 94. ANS (D) Solution:
T S w1 e = ?x(ﬁiﬂ)z

%&vﬂ)"’ =243
()2 =24 x 4
TN = 4.6
oAt e # W =3 X g = 3 X 4./
=12J6

Ques 95. ANS (B) Solution:

5x6 30
Lo =w= 100—030Fﬂ2t

1
ot = 5-0.30 = 4.70 FxX
a1y 74 9H F 9% 99 g = 4.70 - 1.00 = 3.70 @
0.30 30
Fa: 3@ i w wfawa = ( 4 xlOO)%= (T)%
=75%
Ques 96. ANS (B) Solution:

A s B 7 79 = 25,000 x 22 = 6250 %o
oA, 79 A 3R B 1 % 14x ok 11x &1
14x + 11x = 6250
25x = 6250
x= %:250
T4 A 3t B 1 %791: 14 x 250 = 3500 a1 2750 Fo
a@: A 3R B #1 309 ®w9w:
100 100

3500 x EW 2750><E

= 14,000 %o @en 11,000 %o
Ques 97. ANS (C) Solution:

198 =2x3x3x11
78 =2x3x13
198aa 78 #1949, =2x3 =6

Ques 98. ANS (B) Solution:

.+ 45° = 1.5 fufergs fies

. agos = 15%360
o

= 12 faferas faaza
Ques 99. ANS (C) Solution:

fasedi 8, A+B+C
=72° + 72° + 36° = 180° = 50%
Ques 100. ANS (A) Solution:

.- 45° = 1.5 fafergs fades
~D+E=18+18°

i '5:5”:12 fuferart ez




